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BARHER

J—vz | NO.| 4 I % (cm)| B (m) | ®Em)
A | 5Kk [Z/* 34 8.5 8
A 2l BK |37y 78 5.5 5
A o| mi |7 146 5 6.5
KA T LR

A T 90 7 5.5
KA T LR

A 5| mk |77 110 85 75
KA T R LR

A 6] =A F R XIEF 112 8.6 5.5

A | mx |77 125 95 g
KA T LR

A o| mi |77 134 9 75
KA T R LR

A 9 =R FORXIEF 97 9.5 4.5

A 0| mA |7 156 5 9.8
KA T LR

A 11l &K FORXIEF 82 8.5 5.5

A 2l &K SAAE 158 7.5 7
KA T LR

A 13 &K R XIEF 113 11.5 4.5

A T N e 142 85 6.5
KA T LR

A 15 &K FORXIEF 125 10.5 8

A 6 mA |0 112 7 85
KA T LR

A 7l &K FORXIEF 52 4.5 3.5

A 8| mA |0 84 8.5 9
KA T LR

A 19 &K |7X/* 74 8.5 4.5

A 200 =K SaAE 96 8.5 9
KA T LR

A 21 &K |/ R/ F* 86 7.5 3.5

A 2| wk |7 108 8.5 9
KA T LR

A 23 &K |7R/* 93 9.5 4.5

A ul mk |7 102 8.5 9

XM 7 FELBEETE




BARHER

S —>4% | NO. | 93 B #E(cm)| #B=(m) | Esk(m)
A 25 BARK |7 X/ F 80 7 6
A 26 B JAAE 126 5.2 9
= XA 7 EE FRERTE '

A al mx |7 AAae 132 4.5 9
= XA 7 EE FRERTE '

A s =k |7 100 7 8
= XA 7 EE FRERTE

A 29 AR |7XR/F 80 7 6

A 30| &K JAAE= 100 7 8
= XA 7 EE FRERTE

A a| =1 |77 100 7 8
= XA 7 EE FRERTE

A 2 3K |7X/F 80 7 6

A 33 &K JAAE= 100 7 8
= XA T EE FRERTE

A | K |72/ % 80 7 6

A B[ AR |[7X/F 80 7 6

A 36| =K JAAE= 100 7 8
= XA T EE FRERTE

A 37 AR |7 X/ F 80 7 6

A 38| &K JAAE= 100 7 8
= XA T EE FRERTE

A 9 FH JR /¥ 80 7 6

A 0| K |72/ % 35 4 2

A s &K |vzx/* 35 4 2

A 2| sk |vzx/% 35 4 2

A i3 & K |72/ % 35 4 2

A sl BKR |vz/*F 35 4 2

A 45| BKRK |vz/* 35 4 2

A 46| BK |vz2/F 35 4 2

A 4711 &K |72/ % 35 4 2

A 8] K |72/ * 35 4 2

A 9 &K |vzx/* 35 4 2




BARHER

J—>% | NO. | %8 EI N 2R (em) | & (m) | EiR(m)
A 50| & IR/ * 35 4 2
A 511 & IR/ * 35 4 2
A 52| mAK (/X /F 35 4 2
A 53] mAk [/X/F 35 4 2
A 54 K (X /F 35 4 2
A 55| mAkK ([/X/F 35 4 2
A 56| mAK [/X/F 35 4 2
A 57| mAK ([0X/F 35 4 2
A 58] mAk [/X/F 35 4 2
A 59| mAK [/X/F 35 4 2




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
B Il = XTNUA 31 6.3 7
B 2l & XTNUA 31 6.3 7
B 3] BRI TANNUA 31 6.3 7
B 4 BRI TNNUA 31 6.3 7
B 51 &K TN A 31 6.3 7
B 6] A |TNNTA 47 6.3 6
B 7N BRI TANNUA 47 6.3 6
B 8l mAR |TNNUA 47 6.3 6
B 9 =R |TNNTA 47 6.3 6
B 0 &K |74 47 6.3 6
B 1l &K |7/ A 47 6.3 6
B 12| &K |hAVHATF 80 8.5 4
B 13| &K |HAVHATF 80 8.5 4
B 14 &K |(hAVHATF 80 8.5 4
B 15| &K |hAVHATF 80 8.5 4
B 16| &K |HhAVHATF 80 8.5 4
B 17l &K |hAVHATF 80 8.5 4
B 18] &K |HAVHATF 80 8.5 4
B 19 &K |HAVHATF 80 8.5 4
B 200 &K |hAVhAT*x 80 8.5 4
B 21l &K | WAV hAT*x 80 8.5 4
B 2 &K |hA4VhAT*x 80 8.5 4




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
C Il = F ORI EF 30 7.8 6
C 2l & F ORI EF 30 7.8 6
C 3/ &K [P RXIETF 30 7.8 6
C A &K |[F7XRXIETF 30 7.8 6
C 5l &K |[FYVRXIETF 30 7.8 6
C 6] &K |F7XRXIEF 30 7.8 6
C N &K |[F7XRXIETF 30 7.8 6
C 8l mAR |TNNUA 25 7.8 8
C 9 =R |TNNTA 25 7.8 8
C 0 &K |74 25 7.8 8
C 1l &K |7/ A 25 7.8 8
C 2l &K [T A 25 7.8 8
C 13l &K [T/ A 25 7.8 8




BARHER

J—>% | NO. | 48 PN 2R ((cm) | BE(m) | ER(m)
D Il = A e 94 9.9 3
D 2l & A e 94 14.7 3
D 3] &K |a3RYY 126 5.5 3
D 7 S N L7l N % 94 16.9 3
D 5| Bk |7¥ by 79 14.1 3
D 6] =K |ZDaXRYV¥ 126 4.5 4
D N EK |7y 94 11.6 3
D 8| mAK |7y by 94 15 3
D 9l KR |[EELRTS 126 4 5
D 0 &K [EEXRTS 63 4 4
D 1| @K |7y hbryvy 94 15.6 2
D 12l @K |7y by 94 13.7 2
D 1B &K |7y by 94 13.7 3
D 1l ®mK [7Ax/F 126 7 7
D 15 &K (V¥ by 63 7 3
D 16 K [daxX¥> 94 4 3.5
D 7] &A [33aRY> 94 4 4
D B @Kk |7y by 63 6.9 2.5
D 19 @K |7y by 63 6.9 3
D 200 Bk |7y hrvy 63 6.9 3
D 21l &K |ZDaxXvv 157 5 4
D 2 &K |Daxvv 126 3 3
D 23 Bk |7y rhrvy 63 6.9 3
D 24 ®AK |DaXRYvv 157 4.5 3
D 25 @K |7y bhrvy 63 6.9 3
D 26 @K |7y bhrvYy 94 14.3 3
D 21l &k |7y hryvy 94 14.3 3




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
D 28] & JaXRYV Y 126 3 3
D 29 = A D e 110 13.6 3
D [ &K |7y by 110 13.6 3
D 31l A |23aXRYY 188 3 3
D R &K |7y by 126 13.6 3
D 33| R |AXIETF 38 2.5 2
D ¥ IFRIEF 31 3 3
D 3B B |FAXIETF 38 3 2.5
D 6] BmAK |FAXIETF 38 3 2.5




BARHER

S —>4% | NO. | 93 B #E(cm)| #B=(m) | Esk(m)
F | = 52/ % 80 7 6
F A= 52/ % 80 7 6
F 3l Bk |22/ % 80 7 6
F sl K |7x/F 80 7 6
F 5| Bk |22/ % 80 7 6
F 6] A |72/ % 80 7 6
F 71 &k |72/ % 80 7 6
F 8] &k |72/ % 80 7 6
F 9] BA |22/ 80 7 6
E 100 8K |[7X/*% 80 7 6
E 11l 8Kk |[7X/* 80 7 6
E 12l 8K |7X/*% 80 7 6
E 13 BK |FYRRIEF 80 7 6
F Ul E K [vx/% 80 7 6
E 151 8K |[7X/*% 80 7 6
E 16| Bk |FYRRXIEF 80 7 6
E 17 5 g2/ F 80 7 6
F 18] @K [/R/* 94 8 7
F 9 EK [7R/F 125 10 8
c 20| = Y<HoZ = B 4
= XA T EE FRERTE

£ | =k Yoz 30 4 5
= XA 7 EE FRERTE

E ol =k 77777 75 35 A
= XA 7 EE FRERTE '

E T A 80 4 6
= XA T EE FRERTE

E I A 75 6 7
= XA 7 EE FRERTE

F P = FXIETF 63 6 5

F 6] BAR |7V Rrvy 141 12 3




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
F 1 &= 27/ * 79 4 5
F 2l = 7 hY 63 4.5 4
F 3/ mK |&g7/* 79 5 4
F A =Y NI s 79 6 5
F 5| ®mK [¥FHhHY 79 6 5
F 6] mK [¥F7HY 94 5 5
F 71 SR |3arRYY 79 6 3
F 8| mK [¥F7HhHY¥ 110 7 6
F I ™K (/BHXEF 79 5 4
F 10l &A [2aRY> 94 4 3
F 1| &K [/ AFEF 63 4 4
F 12 &K [/ AxEF 63 6 3
F B &K [/ AFEF 47 5 4
F Ul &K [/ AxEF 63 7 5
F 15 &K |7y bhrvy 157 8 3
F 6] mK [/X/F 126 12 9
F 7] @K [/X/F 126 13 6
F 18 @Kk [7X/F 126 11 8
F 19 &K |bUvAhHTT 110 8 6
F 20 K |bvhTT 110 8 6
F 21l K |hvAhT T 110 8 6
F 2 mK |tvAhTT 110 8 6
F 23l Bk |[7AX/F* 63 10 9
F 24 BER |E2aTVHIXF 8 2 1
F 25 EKR |THY 0.5 3 3




BARHER

J—v4 | NO. | %4 PN 2R ((cm) | BE(m) | ER(m)
G Il = ~T/NA 41 3.5 5
G 2l & EAY ] 41 3.5 5
G ] = NI e A | 79 5 4
G 4 'R | TNNUA 94 6 6
G 5| mAk |87/ * 63 4 4
G 6l mAKk |7/ * 110 7 7
G 7N &K |A3RYY 157 8.2 5
G 8] &K |3 RYY 188 8.2 5
G 9 \mK |7V by 94 13.5 3
G 10 K [dax¥> 141 5 4
G 1| @K |7y hbryvy 110 10.4 3
G 12l @K |7y by 141 16.6 3
G 13 &K |2azxvy 157 5 4
G U 5K [20ax¥> 126 5 4
G 15 @K |7y by 79 11.8 3
G 6] @K |7 by 94 14.2 3
G 17 K [2axX¥> 157 4 4
G B @Kk |7y by 94 13.9 3
G 19 @K |7y by 94 13.3 3
G 200 @A |7¥vbhbrvy 79 6.5 3
G 21| @Ak |7y by 79 6.5 3
G 2 &K |Daxvv 141 6.5 4
G 23| @Ak |7¥rhbrvy 79 6.5 4
G 24 &K [2axvy 157 5 3
G 25 @K |7y bhrvy 63 6.5 3
G 26 @K |7y bhrvYy 63 6.5 3
G 21| @Ak |7¥>v by 79 6.5 3




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
G 28| = A D e 63 6.5 3
G 29 = A D e 63 6.5 3
G 30| A |23aXRYY 157 6 4




BARHER

S —>4 | NO. | 44 A% s (cm) | BE(m) | ZE(m)
H | =i [F7777 85 5 5
= XA 7 EE FRERTE
H 2l K |7Xx/F 55 7 4
H 3 ?¢:IVV$73 47 9) 4
= XA 7 EE FRERTE
H i B Yk 60 10 6
H = SR )% 80 7 5
H 6| sk |vz/% 80 7 5
H U=V EYE: 85 9 7
H 8l =K v 50 5 4
= XA 7 EE FRERTE
H 9l =A A 45 5 4
= XA 7 EE FRERTE
H 0| Bk |4x/F 60 8 5
H 1| mk |gx/% 60 8 5
H ol mx (77777 90 10 8
= XA T EE FRERTE
H sl mx |77 110 9 10
= XA 7 EE FRERTE
H | =i |77V 30 6 A
= XA T EE FRERTE
H 5| ma TV 90 6 4
= XA T EE FRERTE
H 6] 2K |[7X/* 45 6 6
H | mx [TV 90 8 7
= XA T EE FRERTE
H 8| mx TV 110 8 7
= XA 7 EE FRERTE
H 9] = SR )% 60 10 8
H 0| Bk (2% 95 10 8
H 2| &k |[vzx/% 70 8 7
H ol =k [T7777 160 7 9
= XA 7 EE FRERTE
H T A 92 6 6
= XA 7 EE FRERTE
L Yoz
H 24 B 110 7 8

XM 7 FELBEETE




BARHER

S —>4 | NO. | 44 A% s (cm) | BE(m) | ZE(m)

H 25| =K TN 98 7 7
= XA 7 EE FRERTE

H 26| &K TN 93 7 7
= XA 7 EE FRERTE

H al =k 77777 94 7 8
= XA 7 EE FRERTE

H 28] A | 41 3.8 2

H 9] A | 47 3.2 2

H 0| A [ 47 3.6 2.5

H 31| BA |y F 47 4 2

H 2| Bk |rvF 41 3 2

H 33 ZK |rvE 41 4 3




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
| 1 &= THXE 110 6 4
| 2l = THXE 110 5 4
| 3l &K |[buhTT 141 18 7
| Al &K |[bvhTT 47 15 3
| 5| &K |[bvhTT 47 15 3
| 6] &Kk |[bvhTT 47 15 3
| N &K |[bvhTT 141 15 6
| 8| &K |[buhTT 94 13 5
| 9l m\mR |[T7HKXE 157 9 8
| 0] &Kk |[bvhTT 110 10 8
| 1l &K [z~ 31 3 3
| 12 &K |bvAhTT 94 12 7
| 1B &K [PILAXY 47 4 4
| 1l &K |bvhTT 79 9 6
| 15| &K |[bvAhTT 79 10 8
| 16| &K |bvhTT 141 10 7
| 7| &K [PILAXY 38 6 4
| 18] &K |bvAhTT 63 6 5
| 19 &K [N 47 5 3
| 200 A |PILRRY 47 5 3
| 21l K |hvAhT T 110 10 7
| 2 &R [T A 157 12 8
| 23 K |bvAhZT 79 10 7
| 24 @A |HILARANY 38 5 4
| 25 A |bvAhTT 79 10 7
| 26| A |PILRRY 47 6 4
| 211 mAK |hvAhT T 79 8 4




BARHER

J—>% | NO. | 48 PN g (ecm) | B&(m) | Eik(m)
| 28 & fohTT 126 13 8
| 29| & by hTT 79 8 5
| 30| A |TNNUA 157 8 7
| 31 &R |PILRRY 63 6 5
| 32| @K |HILARNY 63 5 4
| 3B ®mAK |[7BAXETF 63 5 5
| #“| wK |7BAXRETF 94 7 6
| 3B wmAK |7BABAXEF 141 10 7
| 36| mAK |7BAXEF 63 8 5
| 37 @A |HILARANY 38 6 4
I 8| mAN |7RARETF 47 5 4
| 9 K |bvhHhTZT 126 10 8
| 40| ®mK |TvF 141 7 7
| a1l mK |bvAhTT 126 8 7
| 2 mK | tvhTT 110 8 7
| ] = N s e il 94 8 7
| aul JmBR | bvhTT 110 7 7
| 4Bl RN |Tv by 63 6.5 4
| a6 mAR |7y 79 6.5 4
| 47 @K |7 by 63 6 4
| 48l AR |[7XF 79 7 5
| 49 AR |[7XF 79 7 5
| 50 A |[/XF 79 7 5
| 51 &AK [7XF 79 7 5
| 52 mA |[/XF 79 7 5
| 83| ®mA (A XTF 63 7 4
| 54l @A (A XTF 63 7 4




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
I 55| = A X7 63 7 4
I 56| = A X7 63 7 4
| 571 mK (A X7+ 63 7 4
| 58] mAK (A XT7FH 63 7 4
| 59 Bk (4 X7F 63 7 4
| 60| mAK (A XT7F 63 7 4
| 61| &K (A X7+ 63 7 4
| 62 mAK |¥Z7Av 110 8 6
| 63 mAK |¥T7AY 110 8 6
| 64| BAK (A XTF 57 6 4




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
J Il = A e 126 13.1 3
J 2l & i 7 G % 157 5 4
J 3] @K |7y hvvy 126 13.1 4
J 7 S N L7l N % 126 16.2 3
J 5| &K TN A 63 5 5
J 6] &K |~¥T/NA 63 5 5
J N 'R |TNNUA 63 5 5
J 8] B |T/NUA 79 7 6
J 9 BAR |T/NNUA 79 7 5
J 10 5K [v7/04a 63 7 7




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
K Il = fohTT 157 13 10
K 2l & fohTT 157 12 8
K 3/ ®mK |(boAhZT 141 13 8
K Al mK |(boAhZT 126 12 8
K 5| mA (buAhZT 126 12 8
K 6]l mAK (bvhZT 110 10 7
K N mK |[bvAhZT 126 10 8
K 8| mK |[bvAhZT 126 12 8
K 9 K |[bvAhZT 141 12 7
K 10 &K [(7BHxEF 79 9 5
K 1| &K (A1 X7F 63 7 4
K 2] &K (A XT7F 63 7 4
K 1B &K (A X7F 63 7 4
K Ul S K [T A 47 5 5
K B &K [T/ A 47 5 5
K 6l &K [T/ A 47 5 5
K 7l &K |7/ A 47 5 5
K 18l &K [T/ A 47 5 5
K 9 &K [T/ A 47 5 5
K 200 AR |TNNTA 47 5 5
K 21l &K |¥7hY 125 10 6
K 22l &K |TNNTA 47 5 5
K 23] &K |TNNTA 47 5 5
K 24 HAR TN A 47 5 5
K 250 BSARK |TNNUA 47 5 5
K 26| AR |TNNTA 47 5 5
K 2711 &K |7/ A 47 5 5




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
K 28 & TN A 47 5 5
K 29 & TN A 47 5 5
K [ AR |[vTNUA 47 5 5
K 31l |\ [T NvA 47 5 5
K 2 K |xTNUA 47 5 5
K 3B @K |[vTNUA 47 5 5
K Ml /AR |[vTNNUA 47 5 5
K 3B AR |vTNNUA 47 5 5
K 36 @A |vTNUA 47 5 5
K 37 B | TNUA 47 5 5
K 38 AR |vTNUA 47 5 5
K 9 K |[vTNUA 47 5 5
K 0 SR [T A 47 5 5
K 11 AR | TNvA 47 5 5
K 2l s K |xTNUA 47 5 5
K 3 R | TNUA 47 5 5
K sl SR |xTNNUA 47 5 5
K 45 \AR | TNUA 47 5 5
K 46 B | TNNUA 47 5 5
K 47 AR | TNUA 47 5 5
K 48 \AR | T/NUA 47 5 5
K 9l B R | TNNUA 47 5 5
K 500 &K [T/ A 47 5 5
K 511 &K [T/ a4 47 5 5
K 52l &K [T/ Aq 47 5 5
K 53] &K [T/ Aa 47 5 5
K B4l @K [T AY 125 10 6




BARHER

J—>% | NO. | 4 Bk % g (ecm) | B&(m) | Eik(m)
K 55 = 7 hY 125 10 6
K 56 = 7 hY 125 10 6
K 57| ®mAK (7 A 125 10 6
K 88| mAK [¥7AhAv 125 10 6
K 59 mAK [¥Z7AhAv 125 10 6
K 60 =& [T/ XA 47 5 5
K 61| ®mAK [>¥Z7AhH¥ 125 10 6
K 62| ®mAK [>¥7AhHv 125 10 6
K 63| mAK [>¥7Ahv 125 10 6
K 64 =R [T/ A 47 5 5
K 65| ®mAK [>¥7AhHv 125 10 6
K 66| mA [>T Ahv 125 10 6
K 67 =& [T/ A 47 5 5
K 68| mAK [>T AHv 125 10 6
K 69| ®mAK |[>¥T7AhAv 125 10 6
K 0 ®mK |¥ThHY 125 10 6
K 1 SR TN UA 47 5 5
K 2l mK |¥ThY 125 10 6
K 3 wmK |¥ThHY 125 10 6
K 4 mSARK TN UA 47 5 5
K B wmK |YThHY 125 10 6
K 6 mAK |¥ThY 125 10 6
K 7 mAK | ThY 125 10 6
K 8 mAK |¥ThY 125 10 6
K 9 wK |¥ThY 125 10 6
K 80| A |TNNTA 47 5 5
K 81| &R |vT/NNTA 47 5 5




BARHER

J—>% | NO. | 48 Bk % g (ecm) | B&(m) | Eik(m)
K 82 &= TN A 47 5 5
K 83| = TN A 47 5 5
K 84l AR |vT/NUA 47 5 5
K 85| A |TNNTA 47 5 5
K 86| A |T/NNTA 47 5 5
K 87| mAR |7 /A 47 5 5
K 88| A |TNNTA 47 5 5
K 89| EHAR |TNNTA 47 5 5
K W HAR |TNNTA 47 5 5
K 9a| AR |TNNTA 47 5 5
K 2| SR |TNNTA 47 5 5
K B AR |TNNTA 47 5 5
K WUl HAR |TNNTA 47 5 5
K Bl HAR |TNNTA 47 5 5
K %| mAK |¥T7AY 125 10 6
K 97| @Ak |¥TAY 125 10 6
K 98| mAK |¥T7AY 125 10 6
K 9| \mAKk |¥F7AY 125 10 6
K 1000 K (=734 47 5 5
K 101 @K |7y by 157 8.6 3.5
K 102l @K |7y by 126 12.5 3




BARHER

S —>4 | NO. | 44 A% s (cm) | BE(m) | ZE(m)
L 1| 24 |Z/% 63 6 5
L 2| & AF a2 94 6.5 4
L 3] Bk [4Famv 141 6.5 4
L i BA |4Famv 94 5.5 3
L 5| Bk (473 110 7 3
L 6| 2k (41723 94 7 3
L 71 Bk 473 126 7 4
L 8 A [4Famv 94 7 4
L 9] A [4Fam 63 6 3
L 0] K |[4Fav 141 6.5 3
L 1| 2K |4Fav 94 7 3
L 12| Bk |4Fav 126 7 3
L 1Bl Bk |4Fav 79 7 2
L ul Zk |4Fav 126 8 3
L 15| ZK |4Fav 110 7 3
L 6] = A1V REer&v 47 5.5 5
L 17| Bk |7y hrve 63 4 3
L 18 K [7¥ by 63 5 3
L 19 =X 77z 94 5 5
= XA 7 EE FRERTE

L 20| BA 77z 63 4 4
= XA T EE FRERTE

L 21| BA 777 79 4 4
= XA 7 EE FRERTE

L 2| ZA 77 94 5 5
= XA 7 EE FRERTE

L 23] BmAK 77 79 4.5 4
= XA T EE FRERTE '

L 24 B 777 63 5 4
= XA 7 EE FRERTE
. Yo7

L 25| =K 47 4 3

XM 7 FELBEETE




BARHER

/—>% | NO. | 93 A &8 (cm) | #iE(m) | 2R(m)
Y77
L 26| = 63 A ;
BA |xomres cmprse
Yo7
L i —— 63 5 A
BA |xom7es cnmrse




